
D
O

 N
O

T
 S

C
A

L
E

 O
F

F
 D

R
A

W
IN

G
S

. 
 D

IM
E

N
S

IO
N

S
 T

O
 B

E
 V

E
R

IF
IE

D
 O

N
 S

IT
E

 P
R

IO
R

 T
O

 C
O

N
S

T
R

U
C

T
IO

N

DATE

1:60000, 1:30000 @ A3SCALE

PRINT DATE

JOB NUMBER CN19-1877 01
6/03/2020

FEBRUARY 2020

C
O

N
S

E
N

T
 

I
S

S
U

E

A

P

E

W

P O  B o x  2 3 6 ,  D u n e d i n

0 3  4 7 0  1 0 8 0

i n f o @ m s d e s i g n . c o . n z

w w w . m s d e s i g n . c o . n z

:

:

:

:

MIKE SOWMAN DESIGN LTD

S U B F L O O R  D E S I G N

L E A N I N G  L O D G E
7 2 1 7  H Y D E - M I D D L E M A R C H  R O A D

59
0m

ap
pr

ox745mapprox

EXISTING HUT

and PROPOSED

HUT LOCATION

LEGAL DESCRIPTION

7217 Hyde-Middlemarch Road
Middlemarch
Valuation No. 27821-15800

Sections 1-4, SO 300215

Site Area = 1496ha

L O C A T I O N  P L A N
S C A L E  1 : 3 0 0 0 0



D
O

 N
O

T
 S

C
A

L
E

 O
F

F
 D

R
A

W
IN

G
S

. 
 D

IM
E

N
S

IO
N

S
 T

O
 B

E
 V

E
R

IF
IE

D
 O

N
 S

IT
E

 P
R

IO
R

 T
O

 C
O

N
S

T
R

U
C

T
IO

N

DATE

1:50 @ A3SCALE

PRINT DATE

JOB NUMBER CN19-1877 02
6/03/2020

FEBRUARY 2020

C
O

N
S

E
N

T
 

I
S

S
U

E

A

P

E

W

P O  B o x  2 3 6 ,  D u n e d i n

0 3  4 7 0  1 0 8 0

i n f o @ m s d e s i g n . c o . n z

w w w . m s d e s i g n . c o . n z

:

:

:

:

MIKE SOWMAN DESIGN LTD

S U B F L O O R  D E S I G N

L E A N I N G  L O D G E
7 2 1 7  H Y D E - M I D D L E M A R C H  R O A D

9
0

1
2
5

e
q
u
a
l

1
2
5

e
q
u
a
l

1
2
5

2
0
0

4
.8

0
0

1
.4

0
0

2
0
0

1
2
5

1
.1

6
5

7.200

135 90 1.620 90 1.620 90 1.620 90 1.620 90 135

200 125 1.585 125 1.585 125 1.420 125 1.585 125 200 1.400

1.275 125 200

200 125 1.585 125 1.585 125 1.420 125 1.585 125 1.275 125 200

90 90 1.133 90 1.088 90 1.088 90 1.088 90 1.088 90 1.088 90 1.020 90 200

8.600

1
.2

0
0

2
0
0

9
0

1
.0

2
0

9
0

1
.0

7
6

9
0

1
.0

7
6

9
0

1
.0

7
6

9
0

1
.1

2
1

9
0

9
0

SUBFLOOR LEGEND

125 x 125 H5 SG8 piles in 400 x 400 x 450mm deep footings

125 x 125 H5 SG8 anchor pile 400 x 400 x 900mm deep footings

2/ 190 x 45 H4 SG8 timber bearer

140 x 45 H3.2 SG8 timber joists @ 400crs

100 x 75 H3.2 SG8 brace (arrow indicates fixing top to bottom)

DECK LEGEND

2/ 190 x 45 H3.2 SG8 (wet in service) stringer / bearer

140 x 45 H3.2 SG8 (wet in service) timber joists @ 400crs

90 x 90 H3.2 SG8 (wet in service) balustrade posts

DESIGN LOADS

Wind Load 65m/s
Snow Load 2.9kPa

Live Load Floor 1.5 kPa
 Deck 2.0 kPa

TIE DOWNS

Refer to the Hut drawings for the tie downs for the structure above

S U B  F L O O R  F R A M I N G  P L A N

S C A L E  1 : 5 0

double blocking
under bunk ladder

double blocking
under bunk ladder

double blocking
under bunk ladder

rebate sill for
860 door

double joist and all
balustrade posts

4
04

2
04

6
04

2
02

4
02

2
04

1
05

7
04

5
04

2
05

TF

BF TF

bolt angled joists to adjacent
joists with 2/ M12 bolts

A

GL -0.500GL -0.600

FL 0.000

GL -1.210

GL -1.210

GL -3.700 GL -2.637

GL -2.230

3
05

1
03



D
O

 N
O

T
 S

C
A

L
E

 O
F

F
 D

R
A

W
IN

G
S

. 
 D

IM
E

N
S

IO
N

S
 T

O
 B

E
 V

E
R

IF
IE

D
 O

N
 S

IT
E

 P
R

IO
R

 T
O

 C
O

N
S

T
R

U
C

T
IO

N

DATE

1:50, 1:10 @ A3SCALE

PRINT DATE

JOB NUMBER CN19-1877 03
6/03/2020

FEBRUARY 2020

C
O

N
S

E
N

T
 

I
S

S
U

E

A

P

E

W

P O  B o x  2 3 6 ,  D u n e d i n

0 3  4 7 0  1 0 8 0

i n f o @ m s d e s i g n . c o . n z

w w w . m s d e s i g n . c o . n z

:

:

:

:

MIKE SOWMAN DESIGN LTD

S U B F L O O R  D E S I G N

L E A N I N G  L O D G E
7 2 1 7  H Y D E - M I D D L E M A R C H  R O A D

1
5
0
m

in

v
a
ri
e
s
 

c
o
n
fi
rm

 o
n
 s

it
e

1
.1

0
0

4
.5

0
0
 a

p
p
ro

x

PROPOSED HUT
REFER TO DON HAWINKELS BUILDER
DOCUMENTS FOR HUT SECTION AND
DETAILS

100 x 75 timber brace

400 x 400 x 450
concrete footing

2/ 190 x 45 H4
timber bearer

2/ 140 x 45 H3.2 timber
joists @ 400crs

19mm H3 plywood flooring

12mm H3 plywood
underfloor lining

refer to Hut documentation
for insulation requirements

100 x 25 H3 timber battens
to close in subfloor area

GL
FL

S E C T I O N  A

S C A L E  1 : 5 0

400 x 400 x 900
anchor pile

140 x 45 timber deck
joists @ 400crs

joist hanger

joist hanger

140 x 45 timber deck
joists @ 400crs

140 x 45 under deck joists

M12 threaded stainless steel
rod with 50 x 50 x 3mm
washers each end

Bowmac BS175  with 2/
M12 bolts to each

2/ 190 x 90 stringer

125  x 125 timber pile

2/ 190 x 45 bearer

split joist hanger

JOIST / BEARER CONNECTION
SCALE 1:10

1

03



D
O

 N
O

T
 S

C
A

L
E

 O
F

F
 D

R
A

W
IN

G
S

. 
 D

IM
E

N
S

IO
N

S
 T

O
 B

E
 V

E
R

IF
IE

D
 O

N
 S

IT
E

 P
R

IO
R

 T
O

 C
O

N
S

T
R

U
C

T
IO

N

DATE

1:10 @ A3SCALE

PRINT DATE

JOB NUMBER CN19-1877 04
6/03/2020

FEBRUARY 2020

C
O

N
S

E
N

T
 

I
S

S
U

E

A

P

E

W

P O  B o x  2 3 6 ,  D u n e d i n

0 3  4 7 0  1 0 8 0

i n f o @ m s d e s i g n . c o . n z

w w w . m s d e s i g n . c o . n z

:

:

:

:

MIKE SOWMAN DESIGN LTD

S U B F L O O R  D E S I G N

L E A N I N G  L O D G E
7 2 1 7  H Y D E - M I D D L E M A R C H  R O A D

3
0

12 gap

12 gap

2
0

80

180

2
0
0
 m

in
3
0
0
 m

a
x

4
5
0
 m

in

400

1
0
0

90

9
0
 -

1
5
0

200

3
0

1
3
0

3
0

3
0

1
3
0

3
0

100

100

19mm H3 plywood flooring

140 x 45 floor joists @ 400crs

form rebate in the boundary
joist at the door opening

ex 100 x 40 H3.2 griptread
timber decking. Grip side up

exterior cladding. Refer to
the hut documentation

140 x 45 timber deck
joists @ 400crs

double deck joist

90 x 90 balustrade post

bolted connection to joists at
corners of deck only

2/ stainless steel bolts through
post and bearer complete with
50 x 50 x 5mm washers

125  x 125 timber pile

2/ 190 x 45 bearer

DOOR SILL DETAIL
SCALE 1:10

TYPICIAL BALUSTRADE

FIXING DETAIL
SCALE 1:10

BALUSTRADE CORNER POST

FIXING DETAIL
SCALE 1:10

bolted connection to joists at
corners of deck only

19mm H3 plywood flooring

140 x 45 floor joists
@ 400crs

ex 100 x 40 H3.2 griptread
timber decking. Grip side up

140 x 45 timber deck
joists @ 400crs

125  x 125 timber pile

2/ 190 x 45 bearer

FLOOR / DECK JUNCTION DETAIL
SCALE 1:10

exterior cladding. Refer to
the hut documentation 19mm H3 plywood flooring

140 x 45 floor joists @ 400crs

100 x 25 H3.2 rough sawn
battens to piles

125  x 125 timber pile

2/ 190 x 45 bearer

SUB FLOOR DETAIL
SCALE 1:10

Refer to the hut documentation
for the exterior walls and
cladding requirements.

M12 stainless steel bolt with
50 x 50 x 3 mm washers

BRACE PILE DETAIL
SCALE 1:10

M12 stainless steel bolt with
50 x 50 x 3 mm washers

125  x 125 timber pile

100 x 75mm H3.2 brace

17.5 MPa concrete footing

2/ 140 x 45 bearer

ex 100 x 40 H3.2 griptread
timber decking. Grip side up

BRACE PILE DETAIL
SCALE 1:10

5

04

1

04

2

04

6

04

3

04

4

04

2/ 190 x 45 bearer

ex 100 x 40 H3.2 griptread
timber decking. Grip side up

7

04

exterior walls and cladding.

2/ 190 x 90 stringer

DPC between bearer and
post where bearer is less
than 300 above GL

M12 stainless steel bolt with
50 x 50 x 3 mm washers

M12 stainless steel bolt with
50 x 50 x 3 mm washers

140 x 45 floor joists
@ 400crs

125  x 125 timber pile

NOTE - ALL JOISTS TO BE FIXED TO BEARERS

WITH 2/ 100 X 3.75mm SKEWED NAILS



D
O

 N
O

T
 S

C
A

L
E

 O
F

F
 D

R
A

W
IN

G
S

. 
 D

IM
E

N
S

IO
N

S
 T

O
 B

E
 V

E
R

IF
IE

D
 O

N
 S

IT
E

 P
R

IO
R

 T
O

 C
O

N
S

T
R

U
C

T
IO

N

DATE

1:10 @ A3SCALE

PRINT DATE

JOB NUMBER CN19-1877 05
6/03/2020

FEBRUARY 2020

C
O

N
S

E
N

T
 

I
S

S
U

E

A

P

E

W

P O  B o x  2 3 6 ,  D u n e d i n

0 3  4 7 0  1 0 8 0

i n f o @ m s d e s i g n . c o . n z

w w w . m s d e s i g n . c o . n z

:

:

:

:

MIKE SOWMAN DESIGN LTD

S U B F L O O R  D E S I G N

L E A N I N G  L O D G E
7 2 1 7  H Y D E - M I D D L E M A R C H  R O A D

9
0
0
 m

in

400

1
0
0

6
0
0
  
m

a
x

1
.1

0
0

3
0
0
m

a
x

2
0

200

90 x 90 balustrade post

bolted connection to joists at
corners of deck only

2/ stainless steel bolts through
post and bearer complete with
50 x 50 x 5mm washers

BALUSTRADE DETAIL
SCALE 1:10

2/ 140 x 45 bearer

ex 100 x 40 H3.2 griptread
timber decking. Grip side up

2

05
ANCHOR PILE DETAIL
SCALE 1:10

M12 stainless steel bolt with
50 x 50 x 3 mm washers

125  x 125 timber pile

17.5 MPa concrete footing

DPC between bearer and
post where bearer is less
than 300 above GL

2/ 190 x 45 bearer

90 x 45 H3.2 rail rebated 20mm into
balusters. Aris to all edges

90 x 45 H3.2 rail rebated 20mm into
balusters. Aris to all edges

140 x 45 H3.2 top on 30° angle
toward the deck. Aris to all edges

1

05

19mm H3 plywood flooring

100 x 25 H3.2 rough sawn
battens to piles

125  x 125 timber pile

2/ 190 x 45 bearer

SUB FLOOR DETAIL
SCALE 1:10

Refer to the hut documentation
for the exterior walls and
cladding requirements.

3

05

140 x 45 floor joists @ 400crs


